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a) -3
b) —1
c) 1

d) 3

t(1,-3) il e y=2x3—4x Ul iaie glas Jpa b



s (L,—4) bl xie f(x) =x" =5 Wall uleddl Jia

a)-2
b)0
c) 1
d) 2



(st (1,-2) ddadill vie f(x)=x" =3 Wall uleddl Jia
a)2
b)0
c) 1
d) -2



.(- 1,-6) ahill) e Y = X7 Al Sl JEal Gulaall Jsa agl
a) 4 b) -4
c) -42 d) -6
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X

a) f/(x)=—=

JC
b) f (x)-—j
c) f(x)——f

d) f(x)=;2“
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X

a) /==
b) /'(x)=—

X

c) f'(x) =x%

d) f'(x)=—
X



() =x"Cx+1) ains.

a) £'(x)=8x" +x° b) Fi(x)= 6x°+x
ey L (x)=2x" +x d) Ffi(x)=8x" +3x*



F(x)=3(x—1)" + 6x i &izta 15

a) f'(x) =6x

b) f'(x)=3(x-1)+6
¢)f'(x)=6x-12
d)f'(x)=3x+6
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, = -12 ’ = 12

D S = s o) Sm = s
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b) S =
3—x
&) f,(x)___lélx__?is
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d) fix)=—2

(3-x)
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x“+4
3-x
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a)F(.x)=x7+4x2+C b)F(x)=6x5+4x+C

C)F(.X)z%-x7+2x2+c d)F(x)=715—x7—l—%x+C
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a) 12x% +9x> —4x* +C
b) 2x% +18x%° —dx+C
c) 2x%+3x> —2x* +C
d) 12x*+9x°> —-4x+C
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a) 12x*+9x° —4x* +C
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c) 3x*+18x°—4x+cC
d) 12x*+9x*>—4x+C



a) F(x)=-2x2+7x+C
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c) F(x)=-12x*
d) F(x)=—12x"
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a) wr)=>3

D) v()=19+6¢
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d) v(t) = 6t
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1ABalL
a) v(t) =9 —6¢
b) W(f)=3¢
c) V(f) = 3¢°

d) W(¢) =6t
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1 -1
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b) 50
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